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12.3 Problems (6 pt Problems)

1. Rewrite 23 — 3z — 2 = 0 so that the polynomial on the left is in factored
form. Use this form to solve the equation.

2. Solve (x —2)(2? — 3z +1) = 0.
3. Solve z(22?% +5) = 52?2 + 2.

12.4 Exercises

1. Rewrite 2% 4+ 522 + 8z + 4 = 0 so that the polynomial on the left is in
factored form. Use this form to solve the equation.

2. Solve (3z +2)(222 —z +2) = 0.
3. Solve 2% —52% 482 —4 = 0 using the fact that 1 is a zero of 2% —52% 48z —4.

4. Solve x3 — 222 — 5z — 2 =0 (hint: —1 is one solution).
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